CO$EL |

B R Series Attachment

BASE Attachment Plate model Applicable models
F-R10-1 R10A
F-R15-1 R15A
F-R25-1 R25A Example
F-R50-1 R50A (R100)
F-R100-1 R100
F-R150-1 R150
{TOP VIEW ) (Unit: mm) (Tolerance : 1)
F-R10-1 F-R15-1
Size 0 Size
6+ ) %4
f 5 8
P =t ©
¥

4.5 #7684’
2-¢3.5 775

* Material : SPCC
% Thickness : 2.0
* Weight : 40g max

© 2-635

* Material : SPCC
* Thickness : 2.0
% Weight : 50g max

* M3 Flat screw is requested when mounting. Please check the instruction manual for the size of screw.

% Thickness : 2.0
* Weight : 65g max

Mounting hole size o3 Mounting hole size 2-M3
FRONT €« o
FRONT¢ | | 4°
T 84
F-R25-1 F-R50-1
Size 114 Size 129
5 104 5 119
BE B
- © y+— - 2] o -
T 7 © 2-635 ? ° T
* Material : SPCC * Material : SPCC

* Thickness : 2.0

2-93.5
* Weight : 80g max

* M3 Flat screw is requested when mounting. Plea

se check the instruction manual for the size of screw.

* Thickness : 2.0
* Weight : 110g max

Mounting hole size 2.M3 Mounting hole size 2-M3
e q ™ T T e - 0
FRONT€ . s FRONTE | T
f 104 119
F-R100-1 F-R150-1
Size 172 Size 187 3-04.5
6.5 159.5 13.5 167.5
~
I - o
38 || 8 78 ?
Pilae i
15 % Material : SPCC % Material : SPCC
‘—JM F.S_é * Thickness : 2.0

* Weight : 150g max

* M4 Flat screw is requested when mounting. Please check the instruction manual for the size of screw.

Mounting hole size 3-M4 Mounting hole size 3-M4
FRONT« & FRONT¢ 3
5 L e
159.5 T 1675 | 2

Option-2



COYEL |

Exam

ple

FRONT - REVERSE Plate model Applicable models
F-K10-2 R10A
Attachment FRi5.2 RISA
F-R25-2 R25A
F-R50-2 R50A
F-R100-2 R100
F-R150-2 R150
< TOP V|EW> (Unit : mm) (Tolerance : £1)
F-K10-2 F-R15-2
Size Size
69 3-63.5 T 85.5 g
i 7 e CL
N|o TO T o | 0 o ¢ o |
: = ® ; L MDY
6.5 10-—H15+4 |
5e—e »—<6.5
L 37.5- 35— 10#354 535
* Material : SPCC ‘ * Material : SPCC
i % Thickness : 1.6 L % Thickness : 1.6
* Weight : 60g max * Weight : 75g max
% M3 screw is requested when mounting.
Please check the instruction manual for the size of screw.
F-R25-2 F-R50-2
Size Size
105.5
5ol ,+6_5 2-04.0 120.5 4 2-04.0
i i i i
P i I . & | o o T 0
¢ 1 13 x P8
[ee]
1otﬁ 5ok dlegs 1018
35 \$3.5 35w \ 35
[ [ i
* Material : SPCC U * Material : SPCC
% Thickness : 1.6 ! * Thickness : 1.6
* Weight : 85g max * Weight : 100g max
* M3 screw is requested when mounting.
Please check the instruction manual for the size of screw.
F-R100-2 F-R150-2
Size Size
178 ol 2-$5.0
161.5 > 2-95.0
61.5 ‘ T i ( '
o ¥ v 2 E: =
é o o i KT F ¥ i L ‘\ %7\1
T Lo ° = e — o t 9
_ﬁ_l | | |15 9 > 30— 3
16.5 10 o 155
35+ \945 50 04.5
i (
H‘ * Material : SPCC * Material : SPCC
* Thickness : 1.6 * Thickness : 2.0
* Weight : 130g max * Weight : 220g max
% M4 screw is requested when mounting.
Please check the instruction manual for the size of screw.

Option-3



COYEL |

B Din rail Attachment Plate

APPLICABLE TO MODEL

Din rail width : 35mm
screws for installation

L

Plate model Model Type Qty
FD-A Ef/IOBAI:lOA, RMC30A M3 2pcs
MMCS8A
FD-B R10A, R15A, R25A M3 2pcs
RMB15A, RMC15A
EXTERNAL VIEW =
T
3 s
*
r i
E L
L1 ‘ <
L2 50
L3
(Unit : mm)
Model L1 L2 L3
FD-A 165 174.5 178.6
b8 e 1245 1286 DIN RAIL ATTACHMENT
MODEL : FD-SP
| 4-¢3.5
T
MOUNTING EXAMPLE = |
2 E | B e
Power Supply 1 v
hmpymd
38

EEEEE]

1
-

50

* Material : SPCC

% Thickness : 1.6

* Tolerance : +1

% Weight : FD-A 290g max

FD-B 240g max

Iz

.

9.5

13.6_.1

* Material : SPCC
* Thickness : 1.6

* Tolerance : +1

* Weight : 85g max

Option-17




COYEL |

Harness for input/output(J type) is prepared in R series. R Se rieS
Mating harness RMB Series
Harness model # 1
Model RMC Series
Input Output
R10A - 15A - 25A - 50A H-OU-9
RMB15A - 30A - 50A H-IN-3 H-OU-16
RMC15A - 30A - 50A H-OU-15
®Model number ®Type o\Vire
[11 . . Length
H - I N _3 2] Pin # Wire AWG | Color | 4 (mgm)
[ 3] 1 UL1015 20 | white | 500
4
) 14 2
Housing : VHR-5N (J.S.T.) ‘ 5 50 3 UL1015 20 black | 500
Pin : SVH-21T-P1.1 (J.S.T.) : -0 4 I —
Weight : 20g max 5 UL1015 20 | green | 500
®Model number ®Type o\Wire
L1 ) . . Length
H-OU-9 2 ‘ Pin # Wire AWG | Color | 5T
[ 3 | : 1 UL1015 18 | black | 500
Housing - — K j 2 uL1015 18 | black | 500
ousing : VHR-4N (J.S.T) : -0 ‘ 3 UL1015 18 red 500
Pin : SVH-21T-P1.1 (J.S.T.) 4 UL1015 18 red 500
Weight : 40g max
®Model number ®Type o \\ire
H-OU-15 5 } Pin # Wire AWG | Color | 5709t
13 ‘ 1 UL1015 18 | purple | 500
) 14| ‘ 2 UL1015 18 gray | 500
Hpusmg :VHR-8N (J.S.T.) % : 3 uL1015 18 gray 500
Pin : SVH-21T-P1.1 (J.S.T.) = ‘ 4 UL1015 18 | orange [ 500
Weight : 80g max s ) 5 UL1015 18 black 500
el ) 6 UL1015 18 | black | 500
7 UL1015 18 red 500
8 UL1015 18 red 500
®Model number ®Type oWire
H-OU-16 5 1 Pin # Wire AWG | Color | 519t
| 3 | ! 1 UL1015 18 gray | 500
4 ]
Housing : VHR-6N (J.S.T) 5] ) 2 Uriois T bao 200
: : S.T. Ea ‘ 3 UL1015 18 | black | 500
Pin : SVH-21T-P1.1 (J.S.T.) } 750 4 uL1015 18 | black | 500
Weight : 60g max -0 5 UL1015 18 red 500
6 UL1015 18 red 500

Option-31



Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Cosel:
F-R25-2 F-R10-1 F-R50-2 H-OU-16 F-R150-1 F-R15-2 H-OU-9 F-R15-1 H-OU-15 F-R100-2 F-R150-2 F_
R100-1 F-R25-1 F-R50-1 H-IN-3



http://www.mouser.com/
http://www.mouser.com/access/?pn=F-R25-2
http://www.mouser.com/access/?pn=F-R10-1
http://www.mouser.com/access/?pn=F-R50-2
http://www.mouser.com/access/?pn=H-OU-16
http://www.mouser.com/access/?pn=F-R150-1
http://www.mouser.com/access/?pn=F-R15-2
http://www.mouser.com/access/?pn=H-OU-9
http://www.mouser.com/access/?pn=F-R15-1
http://www.mouser.com/access/?pn=H-OU-15
http://www.mouser.com/access/?pn=F-R100-2
http://www.mouser.com/access/?pn=F-R150-2
http://www.mouser.com/access/?pn=F-R100-1
http://www.mouser.com/access/?pn=F-R100-1
http://www.mouser.com/access/?pn=F-R25-1
http://www.mouser.com/access/?pn=F-R50-1
http://www.mouser.com/access/?pn=H-IN-3

CraHpapT
INeKTpPOoH
ﬂ CBAA3b

Mbl MOf04aA M aKTUBHO Pa3BMBAIOLLAACA KOMMAHWA B 061acTM  MOCTaBOK
3NEKTPOHHbIX KOMMOHEHTOB. Mbl NOCTAaBASEM  3/IEKTPOHHbIE  KOMMOHEHTbI
OTEYEeCTBEHHOIrO U MMMOPTHOIO NMPOWU3BOACTBA HAMPAMYIO OT NPOU3BOAMUTENEN U C
KpYMHEMLWKNX CKNaZ0B MUpa.

Enaro,a,apﬂ coTpygHn4ecTtesy C MMpPOBbIMU NOCTaBWMKaMWN Mbl OCYLLECTBIAEM
KOMMNNEKCHbIE N NN1aHOBblE MNMOCTABKU LumpoqaﬁLuero CNEeKTpa 3/1EKTPOHHbIX
KOMMOHEHTOB.

CobcTtBeHHan 3¢p@eKTUBHAA NOrMCTUKA M CKNag B obecneunBaeT HageKHYHo
MOCTaBKy MNPOAYKLMM B TOYHO YKa3aHHble CPOKM Mo Bcel Poccum.

Mbl ocyuiecTBisem TEXHUYECKYI0 MNOALEPKKY HAWWM  K/IMEHTaMm U
npeanpoaaxkHyto NPOBEPKY KayecTsa NpoayKumu. Ha Bce noctaBnsiemble NpoAyKTbl
Mbl MPEAOCTaBASEM TFAPaAHTUIO .

OcyuwiectBndem nNOCTaBKM NpoOAYKUMM nog, KoHTponem Bl MO PO Ha
npeanpuATUA BOEHHO-NPOMbIWIEHHOTO KoMnaekca Poccuun , a TakKe paboTtaem B
pamkax 275 ®3 c OTKpbITUEM OTAE/bHbIX CHETOB B YNONHOMOYEHHOM BaHKe. Cuctema
MeHeXMeHTa KayecTBa KomnaHum cooTBeTcTByeT TpeboBaHuam FOCT ISO 9001.

MWHUMaNbHbIE  CPOKM  MNOCTAaBKW, TMOKME  UeHbl, HeorpaHWYeHHbIN
aCCOPTUMEHT UM WHAMBMAYANbHbLIN MNOAXOA K KAMEHTaM ABAAIOTCA OCHOBOW ANA
BbICTPAMBaHMA A0FOCPOYHOIO M 3GPEKTUBHOIO COTPYAHMYECTBA C NPEeANPUATUAMM
PaANO3NEKTPOHHOMW NPOMBIWAEHHOCTU, NPEeanPUATUAMM BMNK u HayuHo-
nccnenoBaTeNbCKUMKU MHCTUTYTaMm Poccun.

C Hamu Bbl CTAaHOBMUTECH elle ycnewHee!

[HaLLIM KOHTAKTbI: \

TenedoH: +7 812 627 14 35

dNeKTpPOHHaA nouTa: sales@st-electron.ru

Appec: 198099, CaHkT-MNeTepbypr,
MpomblwneHHasa yn, gom Ne 19, nutepa H,
nometleHune 100-H Oduc 331

\_

J



mailto:sales@st-electron.ru

